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2. If 5 bananas cost $12.00, determine how many bananas you can buy

for $20.00
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3. Convert the units of measure as indicated (use either method)
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Converting between systems ( Imperial ¢ Metric [SI])

Conversions SI to Non-SI Length g-(.’mvum Non-SI Imperial -
| metre [m] = | 3.2808 feet [f1] kilogramkg | = __12.205 pounds Ib ) &
| metre [m] = | 39.37 inches [in] | tonne = 1.1 ton il
kilometre [km] = | 0.6214 miles [mi] )
. | mile [mli = | 1.609 km
I inch [in] = | 2.54cm




4. Convert as indicated g[.JLﬂle,‘Qert- Cheok .
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| mile [mi] = | 1,760 vards [yd] | metre [m] = | 3.2808 feet [f1]
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| yard [yd] 36 inches [in]




5. Add or subtract as indicated: M o 1652 Qvtpd f
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6. Jason comes to work at 08:45 and leaves at 17:00. He gets a 45 min
lunch break. Determine the amount of time for which he gets paid.
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7. Destiny gets paid $16.25 per hour. She gets overtime pay (O/T) after
40 hours in any week. Overtime pay is ‘time and a half’. Calculate
Destiny’'s Gross pay for the week. Her work schedule hours this week are
as follows:

Mon Tues Wed Thur Fri Sat Sun Totud
8 10 8 7 11 3 0 = )
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8. Mike Miser is saving up for a new game. He saves $2 the first week.
Each week after that he saves twice as much as he saved the week before.
If this pattern continues, how much will he have saved in 6

weeks? cfof . L Gy {fo Salve
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BONUS QUESTIONS (extra marks if you need them)

9. MrF sends a student to Timmies with $50 to buy some donuts. He
wants 30 donuts, but he wants only chocolate or maple. Chocolate donuts
cost $2 each and maple cost $3 each. How many of each donut will the

student get if she spends the entire $50. A L‘L‘.{ '_[ _ﬂwe
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10. Your final exam is six weeks away! Calculate how many seconds
remain until your final exam.
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